Seat No.: Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY

Diploma Engineering Semester —II1 Examination Dec. 2011

Subject code: 331901 Date: 31/12/2011
Subject Name: Fluid Mechanics and Hydraulic Machines

Time: 10.30 am - 01.00 pm Total Marks: 70
Instructions:

1. Attempt all questions.

2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.

4. English version is considered Authentic.

Q-1(A) Define the following properties of fluid and give unit of each properties . 7

(1) kinematic viscosity. (2)specific volume.
(3)Density. (4)Dynamic viscosity.
(5)Bulk modulus of elasticity. (6)Vapor pressure.
(7)Specific weight.

Q1(B) Enunciate Newton s law of viscosity and distinguish between Newtonians 7
fluid and Non Newtonian fluid.

Q-2(A) State and derive Pascal s law of pressure. 7

Q-2(B) Classify the pressure measuring device. Explain any one in brief. 7
OR

Q-2(B) Determine the size of the pipe to carry 3000 liters/minute of water with 7

maximum velocity of Smeter/sec

3

Q-3(A) State and derive Bernoulli’s equation & it’s limitation.

Q-3(B)Explain the Reynolds’s Experiments with neat sketch. 7
OR

Q-3(B) Water flows in a pipe of 30c.m.dia. is 3000 lit/min. the pressure at a point is 30

KN/m2. find the total energy at a datum point 5 mit. Below from that point of a pipe.

N

Q-4(A) Derive expression for finding out discharge through venture meter.
Q-4(B) What is impact of jet ? Derive Expression for finding out impact of jet on 7
smooth fixed inclineded flat plate.

OR
Q-4(B) A 5 cm. dia. Of jet is moving with a velocity of 30 m/sec. strike a moving 7
flat plate normal to the jet. Flat plate is moving with a velocity of 8 m/sec. Calculate force
exerted , work done & Efficiency.

Q-5(A) Describe the pelton wheel with neat sketch. 7
Q-5(B) Write short note on ANY two 7
a) Hydraulic accumulator. b)Hydraulic lift. c)Hydraulic intensifier.
OR
Q-5(B) Describe C.F. pump with neat sketch. 7
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